FRI0FS AR MRRREEXLAR,,

X HES Xt H € #| 7™ A B
1 6 B (K) 50, 000 | cERTHERFEEGEHR
= 3 228 (X 20, 000 | TFATRIEEMHIEN
HiEeH A&t 2 ¢ 70, 000
REH 34 75, 000
9 B (k) 5 000 EATERNEESESTCHRESE
e
228 (K) 5, 000 | BFRAITREEEESRLESBES
== fw > %. N
2 4 B (K) 5, 000 iggjéo‘“gm & M
N 3 A = 'S
50 (&) 5 000 Egif& £E R Z T # 4
i &= ElMRRSBEEEERARE
2 5H (&) 5, 000 | nsmums
2 50 () 5 000 ;;‘;rf?iﬁ%ﬁﬂuiﬁﬂiiﬁ%%
= Ao N A
318 K 5 000 ;iﬂﬂi%ﬂ%%%iﬁniiﬁﬁnﬁ
A&t 7 & 35, 000
REt 8 45, 000
, BEEREEARGRES XD
1R 4. 000 o o R RS
tBsERMTHERSEEZEHNL
1 08 (K) 6, 000 PO
s ~ A YD D ==
% E 118 (&) 5 000 igihnﬂ(ﬁﬁ%qmn%n,ﬁﬁ
FATBRXARSEHELERES
=4 Uk 118 (&) 1, 000 MRS g —
FRAKBEZEILIERFEMKITERIE
TR @) 1. 000 wpmie (x+o hi)
168 0K 3 000 BEATmREZEREZERES

EHRBERE




FR3I0FSAD MRRFREXLAR,,

X HES Xt H € #| 7™ A B
1 6 8 (K) 4, 000 | FlIXEREMELEBHE
168 0K 4 000 FlRELERRSTHESE
b3TE S
== A
2 4 B (K) 1. 000 Zﬂgﬂi%ﬁumm SERERXRH
=IN\—T A —
=R 2 5H (%) 1, 5600 | FRAIREILZE/N—TFT 14—
FRE®EBHhESLERUEI
=4 Uk 2 8H(A) 5, 000 AN
= gR= s & 38
308 6K 3. 000 immzﬁﬁﬂ EHREBR
A&t 124 38, 500
REt 204 78, 500
ENRZIEH LRDGEXRFELE
3 0H (K) 7, 000 DIBES
XEME | gat 14 7, 000
RE 2 4 53, 200
BARJOBHOBY S JIEME
7EA) 4 380 REOBME~DELER
HAEHRBEEEHEA—TVIC
10, -
7EA) 0. 000 | wsumn oem) m=
ZDfth IRRS—HFLBEENEHEIZ
1 1) U
SEMY 12. 850 | wspmmomannzEin
A&t 3 27, 230
REt 44 32, 330
A&t 2 54 177, 730
& &
RE 37 284, 030

X REMRITERIO0OF4ANLDRETT,
XHAR, REFEXH LA EGESEH, AR
BENBYET.

(1TH) RAERFLE—HLEL




